begin
using CairoMakie
using Makie
using PairPlots
end

using DataFrames

CairoMakie

Makie.current_backend()

df = age
1 0.119291
2 0.273049
3 0.546192
4 0.626735
5 0.601374
6 0.598191
7 0.408514
8 0.943643
9 0.70281
10 0.318641
more

100 0.842307

df = DataFrame(
tage => rand(100),
:weight => rand(100),
theight => rand(100)
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weight

.552219
.665831
.924147
.705244
.16851
.667593
.328226
.416058
.0809413
.276273
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height

.37163

.285033
.697562
.431455
.771033
.491661
.850875
.075187
.139503
.117054

150748
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1 pairplot(df)
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